545

MSCBO-06
December - Examination 2019
M.Sc. (Final) Botany Examination
Cell Biology, Genetics, Biostatistics & Ecology
Paper - MSCBO-06
Time : 3 Hours ] [ Max. Marks :- 80

Note: The question paper is divided into three sections A, B and C.
Write answers as per the given instructions.

fAder: Ig ued ux ‘o', ‘¥’ IR ‘W fiF @Wuel § A g1 ud
Gus & MGATTAR AT & IR QIS

Section - A 8XxX2=16
(Very Short Answer Questions)

Note: Answer all questions. As per the nature of the question
delimit your answer in one word, one sentence or
maximum up to 30 words. Each question carries 2 marks.

Qus - ‘37’
(rfer Ty IR Ue)
fAder: Tt weAl & IR SISTI 31T 310 TR DI WATTHAR Th 916G,
T Iy AT ferpad 30 orsgl H uRAfg Hifviel e ueT
2 3fpl Bl gl
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1) (i) Whatis plasmodesmata?

CATSHISHHCT RIT 8 ?

(i) What do you mean by satellite - DNA?
ATz -8t U7 U 9 319 T JHeId g 2

(iii) Define test - cross and mention its usefulness.

TRIE0T-3hRT DT AR HIRTY 3R SADT IUAAIAT FTST
(iv) What are aneuploids?
TICATSS T 81 8 7
(v) What is bioinfarmatic?
IRIghIHfCH T g ?
(vi) Write down names of major soil types of India.
ARAT &1 & J&F YbRI & 14 fIRau|
(vii) Mention names of any two biopollutants.
feh=gl &1 STaugye! b T TSyl

(viii) What do you understand by eutrophication?

GUISOT A 37T T T 8 2
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Section - B 4X8=32
(Short Answer Questions)

Note: Answer any four questions. Each answer should not

exceed 200 words. Each question carries 8 marks.
gus -
(oTg TR U9A)

fAder: gl IR Ul & IR ST 3T 3 IR Dl 3ferhad

200 et # AT HTTl T w9 8 3l &l ¢

Explain working mechanism of light microscope.

Tep1el Jercell bl rIyumell i ufshar FHSSY|

Discuss nucleosome model of DNA folding.

SITIY I o TSI AiSe Dl <t BT

Write a note on structure of t-RNA.

t-RNA & T¥eAT IR U ferquft foRau)

What is ANOVA (Analysis of Variance) ?
TET (R @1 faeersor) o/ g g ?

Write a note on food web.

WII-JTT IR Uep fewguft foRau

Explain about cybernetic ecosystem.
ATgERAfeD qIRA= & IR H TSV

Write a note on Acid rain.

i auf W U feoquft faRgu)

Explain about nitrogen cycle.

TSI ash DI AHSTSU
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Section-C 2X16=32

(Long Answer Questions)

Note: Answer any two questions. You have to delimit your each
answer maximum up to 500 words. Each question carries

16 marks.
yusg - 9
(e IR o)

fAder : gl T U9l & IR SINITI 31T 399 IR B 31frpad 500

grecl o g Hif| U U9 16 3T & Bl

10) Discuss structure and functions of Plasma membrane in detail.

TATSHT ettt &l R Td HrEf dhi favga faemr i)
11) Give an account on replication of DNA molecule.

Sl U T 3 o Ufciopfcd TR Uep ferur forfReu)
12) Write detailed note on followings.

e @R foega feoqult ferRa|

() Mode /9gdd

(i) t-test/d-cxe

13) Write a detailed account on conservation of biodiversity.

Stafafdedr & HRe0T W faegd feror faRau)
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